Correct and Incorrect Notation for Limits

Example 1:

. Ja-3
Find this limit: 1im
a>9 -9

Correct Notation:

Do not drop the ‘lim’
lim ‘?_‘93 =lim (5_93)%523) notation until direct
(@-9)(vVa+3) substitution is used.

~lim—2=9
29 (a—-9)(va +3)
=lim !
9 \fa +3
1 1

Z\@+3=g

Incorrect Notation:

im Ya-3_(Ja-3)(Ja+3)

a—9 —_ B —
a-9  (a-9)(Va+3) The “lim’ notation has no

__a-9 meaning unless followed

(a-— 9)(% +3) by a function expression.
Keep the ‘lim’ notation
until direct substitution is
used.




Example 2:

e 5x° —7x+1
Find this limit: 50— 233

Correct Notation:
5x°-7x+1 5 5

x—o  2x% —3%3

Incorrect Notation:
53 —T7x+1
lim > >
x—o 22X —3X

. 5
lim=——
3

X—>00

Again, the ‘lim’ notation has no
meaning unless followed by an
expression. Never write

lim= anumber  nstead write

X—C

lim f (x) = a number

X—C




